A R gved, 9.9, 9Tl
TR DU e 2022
IS U3 U
fayg — oI IS
POLITICAL SCIENCE
HeT : 1241
Y — 3 g0 quTies : 80
3h
frder— (1) o g3 <ifvard €|
(i) U7 HHIBG 1 A 5 dPb TS U T, YD [U YT W 01 3Ab
arafed g |
(iii) 7o HHIH 6 W 23 TP ARG [Adbed fad T £ |

(iv) Ue PHHIG 6 F 15 TH IS U9 WR 02 3fd MuiRd &, S foram
BT Ieg AT 30 IeR |

(v) U39 HHIG 16 | 19 TP UAP U9 & ford 3 3fh FuiRd &, S
forg=T @1 2req AT 75 oeg B |

(vi) U2 HIH 20 W 23 d6 IAH U B 4 3id [UiRT 8, SR
forg=T @1 ereq AT 75 g B |

Instruction :-

(1)  All question are compulsory.

(1i1))  Questions No, 1 to 5 are objective type Questions each sub
questions is allotted 01 marks.

(i11))  Questions No. 6 to 23 are internal options are given

(iv)  Questions No. 6 to 15 carry 2 marks each and answer should be
given is about 30 words.

(v)  Questions No. 16 to 19 carry 03 marks each and answer should be
given is about 75 words.

(vi)  Questions No. 20 to 23 carry 04 marks each and answer should be
given in about 120 words.
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yei—1 A8l fddey g fofay ? 1X6=6
0 Wi gg o1 =aRA fdg or —

(31) FgaT AaTse ddhe (@) dfeid @l daR

(@) BIRATE Fpe  (]) HfdAd AY BT N W g&y
(IT) gorq fdvd gg &1 a9y Irafgr off —

(31) 1939 | 1945  (d) 1914 ¥ 1918

() 1945 H 1990 (3) 1990 & 1945

(I11) RITT I o g&T ' —

(31) SferR (@) wedl
@) asve () W
V) AR IR R ST B9 dTelT YIH IS 2T —

(31) aferg, (3) FACH
(@) SsraT (%) ST
V) A |i9a™ &g 997 —
(37) 26 FTaHR 1949 (d) 15 WX 1947
(F) 26 ST 1950 () 1 IR 1956
(VI) YOS T &
(31) 3R er faMTT &1 JEaTerd (@) $9 & AUR b=

(F) STHAT DI TS (]) fIva w@Rey HITed & AT



Q-1 Write by Choosing the correct option.

(1) Was the climax of the cold war ?
(a) Cuba missile crisis  (b) The Berlin Wall

(c) Korean Crisis (d) Soviet union Hungarian Intervention

(1))  Period of the first World war.
(a) 1939-1945 (b) 1914 - 1918
(c) 1945-1990  (d) 1990 - 1995
(i11)) European Union Currency.
(a) Dollar (b) Ruble
(c) Pound (d) Euro
(iv) The First state to be formed on linguistic basis was .
(a) Tamilnadu (b) Karnataka
(c) orissa (d) Andra Pradesh
(v)  When was the Indian constitution in made.
(a) 26 November 1949  (b) 15 August 1947
(c) 26 January 1950 (d) 01 November 1956
(vi) What is the Pentagon

(a) The Pentagon is the Head Quarters of the US Department of
Defense

(b) The Business center of Russia
(c) The Capital of Germany
(d) The Head Quarters of the World Health Organization



UR—2

Q-2

UR1-3

Raa o=l &1 gfed sifog ? 1X7=7
(37) Wifdad I §RT S9R™T TAT HT TSEIT oo o |
@) AP D TG T DI AT o =
() w2 gdl IR BT AT SToiel DI RTSTEM..oone # fopar T |
(&) UNICEF &T qRRTAT ...ooooerrre H T
(3) @d=ar & I ARG # <2 RIr<adl & & o |
() YT I BT MR oo & g e |
(1) TBAT IROMAT oo <Y 3T |
Fill in the Blanks :-
(1)  Coalition formed by the Soviet Union is -----------------
(1))  The Number of Member states of SAARC is ---------------
(i11) The First Earth Sumit was held in the capital of Brazil -------------
(iv) The Head Quarter of UNNICEF is in ------------------
(v) At the time of independence there were number of princely states
---------------- in India.
(vi) Total Revolution was called by ----------------
(vii) Chakma refugees came ----------------- from the country.
Uh g § Sar STy ? 1X7=7
(@) Afaua g faged & a1 fava & IqoHifa &1 T8 off |
@

() 9RA H U A g9 69 U o |

)
) IARTE IR BT AT Bl TR 2 |
)
)

(@) SN SaA-—sg fear o1 AR7 feae gRr faar |

(3) IRA & IR TSI <% & AW foRau |



() ARG H AT JATART BT TS Dha AT 14T |
(1) JMRELIME. BT [ B FIT 2 |

Q-3 Answer is one sentence -

(1)  After the dissolution of the soviet Union world politics had
become.

(1))  Where is the Head Quarters of the international Court of the
Justice.

(111) When were the first general elections held in India.

(iv) Jai Jawan Jai Kishan slogan was given by.

(v)  Write the Names of Four neighboring countries of India.

(vi)  When was the Election Commission of India formed.

(vii) What is the Full Name of the RTI .
-4 A /ey forf ? 1X6=6
(@) T g€ @ 91 favg &) aReT U@ gdrg & 8 o |
(@) AR H 9 1974 H USAT URATY] URIET0T fehar o |
() 3ref FaARRAT & ITNIHRVT H JLIIHROT &I Ufehar I g3 |
(8) faea & g AT et &1 RIUAT 1951 H g8 ol |

8) T Ig PN HFYCX g D AW A O T B |
(%) wRa fauror fgxrse Rygid &1 aiRom o |
Q-4 Write true/false : -
(1)  The World order became one polar after the cold war.
(i1)) India conducted the first nuclear test in 1974 .

(111) The Process of globalizations was hampered by the liberalization

ot the economy.



(iv) The Worlds first business school was established in 1951.
(v)  Iraki war is known is the computer war.

(vi) The partition of India was the result of the two Nation theory.

UeT—5 Wl Sliel §918Y ? 1X6=6
DI I AL
i ST B I A 1967
i ST BT 2RI B 1949
iii  drRfae wifa C 1962
iv 9Rd ¥4 gg D 1917
v Siereer fmir E 1971
vi NIg YEEfed S F 1956
Q-5 Match the following :-
A B
(i) Establishment of Nuto (1) 1967
(ii) Establishment of Asen (2) 1949
(iii) Balshevik Revolution (3) 1962
(iv) India - China war (4) 1917
(v) Cration of Bangladesh (5) 1971
(vi) States Reorganization Act (6) 1956
o6  d gg oI Y FHG AT ST 7 7 1X2=2

When is the Cold war considered completely over ?
34T / or
ofid g fod wea € 2

What is cold war ?



Uet—7 &I gar fawg | @ iU § ? 1X2=2
What is meant by to polar world's ?
34T / or
RIEINIRECaRC OG0
What is the meaning of stress Psychosis ?

Ued—8  BIAI ¥R B oe Pl H UK B © 7 1X2=2

Where did the root of the word hegemony come from ?
31=IdT / or
ATeT &1 R 49 FT 8§ ?
What is the full name of Nato ?
yei—9  TRrel |Hsiiar w9 g3 ? 1X2=2
When was the Shimla Agreement ?
31=IdT / or
Ah & e <9l & A forkag ?

Name the member countries of SAARC ?

UoI—10  [ISINGN | T I 7 P 1X2=2

What is meant by disarmament ?
31=IdT / or
JREAT | T IMIF 7 ?
What is the meant by Security ?

U99—11  JIATHNOT § AT M & 2 1X2=2

What is meant by globalization ?



UR1—12

YR1—13

UR-—14

YR-—15

31=IdT / or
eRoTef fHd FEd © ?
Who are the refugees ?
Ahdife o e FEd 8 ? 1X2=2
What is a democratic government ?

31=IdT / or

YR & UH A Y bid o ?
Who was the first election commissioner of India ?
TGS W T I & ? 1X2=2
What is meant by defection ?
31=IdT / or
T T g ?
What is Previpers ?
aret faRIe afale™ da 3R HBl gIAT AT ? 1X2=2
When and where was the Anti-today movement ?
31=IdT / or
N.F.F. &1 @1 99 &1 8 ?
Write the name of NFF ?
DIs &I &3 Tl & =4 fIrgy ? 1X2=2
Write the names of any two Regional parties ?

31=IdT / or



"Ik e gear siRi—<ferT fea—fes gear 9, f&g g
I AT Ig ART o7 ?

North increases day by day South decreasses day by day related to
which movement ?

gTi—16  Wid AU & DIg = gRend falkgg ? 1X3=3
Write any three results of shock therapy ?
31=IdT / or
Aifead ¥ & fqge & dis dF dRor forlay ?
Write any three reasons for the disintegrations of soviet Union ?
ge—17 IR GG B B A AT H AT FIeT g9 8 7 1X3=3
What policy of the European Union makes it an effective organization ?
31=IdT / or
MR IS 2020 &7 R a1 AT & 2
What are the highlights of ASEAN vision 2020 ?
gea—18 A & Igaed forldy ? 1X3=3
Write the objective of planning ?
31=IdT / or
AT AT @1 2, wHesy ?

Explain what is NITI Aayog ?

Ued—19  IMUTADIA Bl A H 4297 FAG FAINE {HAT TAT, SHBT I HRY]
RIS 1X3=3

What was the main reason for the 42nd Amendment the period of
emergency ?



YR4—-20

YR—21

YR-—22

31=IdT / or
YR B Sl YOTTell TR 3MUThlel Dl fhd TRE AR BIIT feTgy ?

How do the emergency affect the party system of India ?

ofid gg & BRI @1 Ble 3R SRPRRI W =0 9 qFT 8 ufsharg
U3 g3 € 3 <1 Ufshameii & @ dRor o ? 1X4=4

What were the reasons for both the arms race from the cold war and
the control of arms in these process ?

31=IdT / or
e FRUET SfIQIe 379 WIS B AT & el DIy ?
Non - Aligned movement is now irrelevant review ?

TAARC! $eReMe A6 &l BRIgGd B qHsigd ? 1X4=4

Explain the working of amnesty international organization ?

31=IdT / or

AT Mg TG & T I & M folgax garsd b smual gite 4
g HEAYUl JRT DI AT § 3R r ?

Write the names of the main organs of the united nations and tell
which is the most Important organ in your view and why ?

RIS YIS 3N & Y@ $ral Ud & g ReiRen o @mren
BITY ? 1X4=4

Write the main functions of the states reorganizations commission and
explain the recommendations given ?

31=IdT / or

T @RI g & wY H AR Bl fha—fdT gl &1 AHar &
ger, forag ?
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What challenges did India face as an Independent nation ?
gei—23  fAEfoRad o wféra fewoh faRag 1X4=4
(i) YR T AT Iy
(i) I FRUerdr @ Hif
Write a short note on the following ?
(1) India's Nuclear policy
(i1) Policy of Non-alignment
31=IdT / or

T Mg B oS g b TR 89 g B faqer AfT w®
AR ST B, WRA B fdaer T BT IS8R0 ad g AHSISY ?

How the political leadership of a nation affects the foreign policy of
that nation. Explain with the example of foreign policy of India.
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